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> TFINC ¥MH T Z2XAE2l A27|7t 49| BTt OtE [ Of

> O3 FENC 2H 27| =2
typedef struct {
char name [10];
int no of guests;
char sex; // ‘m’ or ‘w’/
} guest card;
<string.h> - =AY ZtH F=Q 2=
> strncmp
274o] A+ H| W (5 &5HH 0 Hheh
> strncpy
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» memset
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A 2l E (2)

» Makefile

CC = gcc
CFLAGS = -g
OBJS = ext3.o show menu.o guest in.o check out.o list.o search by name.o search by room no.o

ext3: $(0OBJS)
S (CC) S (CFLAGS) -0 ext3 $(OBJS)

» AA| It 0| (search_by_name.c)

void search by name ()

{

// Stub function -- O&l JHGIK| U2 b

}
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»ext3.c (Y5

int end of program = 0;
int choice;
char garbage[255];

while (!end of program) {
show menu () ;
printf ("Choose the menu no : ");

if (scanf ("%d", &choice) == 1) {
switch (choice) {
case 1:

guest _in();
break;

case 6:
end of program = 1;
break;

default:
printf ("Invalid choice

else {
printf ("Invalid input !'\n");
scanf ("%s", garbage);

¢ o}

'\n");
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» guest_in.c

(O||:|

if

fd =

if

else

(fd > 0) {

(new_card.no_of guests > 0) {

open (DATA FILE NAME, O RDWR);

// 21 = oY EX

lseek (fd, (room no-1) *sizeof (new_card),

read (fd, &org card, sizeof (org card));
f(org card.no of guests == 0) {

lseek (fd, (room no-1)

write (fd, &new card, sizeof (new_card));

printf ("Bl O] OpEL|CFI L1 i\n")

{/ 9f MUO| EXSHA| Ee 8% - Mz 44
f p n(DATA FILE NAME, O CREAT |

if (£d > 0) {
lseek (fd, (room no-1)
write (fd, &énew card, sizeof (new_card));

close (fd);

)

SEEK_SET) ;

*sizeof (new_card),

O_RDWR, S_IRWXU);

*sizeof (new_card),

SEEK_SET) ;

SEEK_SET) ;
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5

ist.c (H{7 1 - 25F)

int room no = 1;

guest card t g_record;

memset (&g_record,
fd

0, sizeof (g _record));
open (DATA FILE NAME, O RDONLY);

if (fd > 0) {
while (read(fd, &g_record, sizeof (g _record))
if (g_record.no_of guests != 0) {
printf ("%10d2 A \tO|& : %-20s
room no,

> 0) {

E A
T

}
room no ++;
memset (&g record, 0, sizeof (g _record));

}
close (fd) ;

o

g _record.name, g record.no_of guests);

%d \n",

oI
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A 2l E (6)

ist.c (HHA 2 - &

int room no = 1;
off t last pos, cur_pos;
guest card t g record;

memset (&g record, 0, sizeof (g record));
fd = open(DATA FILE NAME, O RDONLY);

if (£d > 0) {
last pos = lseek(fd, 0, SEEK END); // file & QX XN#

cur _pos = lseek(fd, 0, SEEK SET);

while (cur pos < last pos) {
read (fd, &g_record, sizeof (g _record));
if (g_record.no of guests != 0) {

printf ("$10d3 A \tO|E : %-20s E= OI& : %d \n",
room no, g record.name,g record.no of guests);

}

room no ++;
memset (&g record, 0, sizeof (g _record));
cur pos = lseek(fd, 0, SEEK CUR); // SR KX HE

close (fd) ;
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